EPIB 613
November 22, 2012
Exercise #8

Using the dataset lbwl.dta available on the course website,

graphs (try to do so without using the graph editor):
1.
5 Scatterplot of birthweight by age for smokers and non-smokers
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Boxplot and histogram of birthweight by smoking status

birthweight (grams)
1,000 2,000 3,000 4,000 5,000
1

0. No 1. Yes
0. No 1. Yes

o

5

é S

w [Te]

T 1000 2000 3000 4000 5000 1000 2000 3000 4000 5000
birthweight (grams)
Graphs by smoked during pregnancy
4. Input the following data into Stata:

Patient # Time O Time 1 Dead

1 12 22 0

2 10 20 0

3 2 19 1

4 27 35 0

5 7 36 1

6 20 28 0

7 5 29 1

8 18 38 0
very beautiful dropped-line plot for the 8 patients.
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